Related Rates Worksheet #3 Morning Review

1) An 25-foot ladder is leaning against a wall. The bottom of the ladder is being pushed
“) towards the wall at the rate of 5 feet per second. How fast is the top of the ladder
moving up against the wall at this time when the bottom of the ladder is 7 feet from

the wall?

2)

A man is driving north at a rate of 17 m/s. He'sees a railroad track 20m ahead of him that is perpendicular to the road. There is a
~ train going east on the track crossing the road and the man determines with a radar gun that the engine is 35 m from him and the
“\distance between his car and the engine is increasing at the rate-of 5 m/s. What is the speed of the train? :

b. What is the rate at which the area of the triangle is changing?
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3) V=§7r7“3 S =4 nr?

A spherical balloon is inflated so that its volume is increasing at the rate of 40 cubic feet per minute. How fast is the surface z_lrea/g\.\
)

of the balloon increasing when the radius is 5 feet? (Note: § = 4nr? and V = -:—m‘3 ) \

a) V= grzh

A conical paper cup is 70 cm tall with a diameter of 60 cm. The cup is being filled with water (

19 . . .
at a rate of—s—7£ cm3/sec. How fast is the water level rising when the water level is 20 cm?
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A man is driving north at a rate of 17 m/s. He sees a railroad track 20m ahead of him that is perpendicular to the road. There i isa
___train going east on the track crossing the road and the man defermines with a radar gun that the engine is 35 m from him and the
" distance between his car and the engine is increasingat the rate-of 5 m/s. What is the spced of the frain? .
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b. What is the rate at which the ax%a of the triangle is changmg‘?
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3) V=§7rr3 - S=4m1r?

A spherical balloon is inflated so that its volume is increasing at the rate of 40 cubic feet per minute. How fast is the surface areg—
of the balloon increasing when the radius is 5 feet? (Note: § = 4nrr? and V = -m ) \
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a) V= grzh

A conical paper cup is 70 cm tall with a diameter of 60 cm. The cup is being filled with water (

at a rate of - cm3/sec. How fast is the water level rising when the water level is 20 cm?
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